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Q.1.sin(A) = * 1 point
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Q.2.tan(A) = * 1 point
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Q.3.c=5,a=4Findb=7?7andsin6=?* 1 point

() b=3sin6=4/5
(@ b=3sin6=3/5
() b=2sin6=2/5

() b=3sin6=1/5

Q.4.cot(A)=* 1 point
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Q.5. The angle of elevation of the top of the building at a distance of 50 m from its 1 point
foot on a horizontal plane is found to be 60 degree. Find the height of the building. *

85.3m
86.4m

@ 86.6m

83.5m

Q.6. A ladder placed against a wall such that it reaches the top of the wall of height 6 1 point
m and the ladder is inclined at an angle of 60 degree. Find how far the ladder is from
the foot of the wall *

3.264 m
@ 3.464 m
3.124 m

3.654m

Q.7. From a point P on a level ground the angle of elevation of the top of a tower is 30 1 point

degree.If the tower is 100 m height the distance of point P from the foot of the tower
is?*

158 m

165 m

@ 173 m

184 m



Q.8: A string of a kite is 100 meters long and it makes an angle of 60° with horizontal. 1 point
Find the height of the kite,assuming that there is no slack in the string. *

30V3m

@® 50V3m

543 m

5543 m

Q.9: An observer 1.6 m tall is 20 V3 m away from a tower.The angle of elevation from 1 point
his eye to the top of the tower is 30 degree. The height of the tower is? *

21.5m

21.3m

@ 21.6m

21.7m

Q.10: (sin30° + cos30°) — (sin 60° + cos60°) * 1 point



Q.11: The Value of tan30°/coté0° is: * 1 point

O 12
O 113
O 3
OR

QJI2:If sinA=12andcosB=1/2,thenA+B=7?"* 1 point

O 0 degree

O 30 degree
@ 90 degree

O 60 degree

Q.13: If a pole ém high casts a shadow 2V3 m long on the ground, then the sun’s 1 point
elevation is *

@ 60 degree
O 45 degree
O 30 degree

() 90degree



Q.14: A balloon is connected to a meteorological station by a cable of length200m 1 point
inclined at 60 degree angle . Find the height of the balloon from the ground. (Imagine
that there is no slack in the cable) *

@® 1732m

173.1m
174.5m

173.6 m

Q.15: An aeroplane is observed to be approaching the airpoint. It is at a distance of 12 1 point
km from the point of observation and makes an angle of elevation of 50 degree. Find
the height above the ground. *

9.18 km
9.634 km

® 9.192km

9.234 km

Q.16: The angle of elevation of a ladder is leaning against a all is 60 degree and the 1 point
foot of ladder is 4.6 m away from the wall. The length of ladder? *

@ 9.2m

9.3 m
9.1m

9.4 m



Q.17: A man standing at a point P is watching the top of elevation of 30 degree. The 1 point
man walks some distance towards the town and then his angle of elevation of the top

of the tower is 60 degree. If the height of the tower is 30 m then the distance he

moves is? *

23VY3 m
2243 m

21V3 m

® 20V3m

Q.18. ABC is a right angled triangle. Find the length of the side CB * 1 point
A
30°
12 cm
C B

8cm
@ 6 cm

7cm



Q.19: Write down the exact value of sin(w). * 1 point

w
2
® 112
3/2
1/73
\2/3
Q.20:If cos A=4/5,thentan A=7* 1 point

@ 3/4

3/5
4/3

4/5
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